

Pattern of Kidney Disease among Adult Hypertensive patients attending cardiac clinics in Dar es Salaam, Tanzania

*Absalom Maiseri, Warles Charles Lwabukuna, Yassin Mgonda
Kairuki University, School of Medicine, Department of Internal Medicine, Dar es Salaam, Tanzania
*Corresponding Author: angelinakungeta@gmail.com

Abstract

Background: Hypertension is a worldwide public health challenge. Over the years it has become one of the leading cause of kidney disease. This is due to closely interlinked pathophysiological states such that sustained hypertension impairs kidney function. Progressive decline in kidney function conversely leads to worsening hypertension. Early detection of indicators of kidney disease among hypertensive individuals and timely preventive intervention are the key strategies to prevent development of kidney disease among hypertensive patients.

Objective: The aim of this study was to determine the pattern of kidney disease among adult hypertensive patients in Dar es Salaam.

Method: A descriptive cross-sectional study was conducted. Questionnaires were applied for social-demographic data. Blood pressure, body weight and height were measured using standardized methods. Blood sample was collected to measure serum creatinine and estimated GFR using CKD EPI2021, while urine was collected for biochemical analysis, dipstick method and albumin creatinine ratio.

Results: A total of 400 hypertensive patients were enrolled in this study, 287 (72%) were females; 249(62%) had primary education, 232(58%) were unemployed, 240 (60%) had history of hypertension less than 10 years, 346(86.5%) had no history of alcohol consumption and 380(95%) had no history of cigarette smoking. Furthermore 240(60%) and 211(52.8%) had a blood pressure of ≥ 140 mmHg for systolic and ≥ 90 mmHg for diastolic respectively. BMI of $\geq 25\text{kg/m}^2$ was found among 236(59%). Reduced eGFR ($< 60\text{ml/min/1.73M}^2$) and micro albuminuria were observed among 119 (30%) and 179(61.5%) respectively.

Conclusion: Acute Kidney Injury, Nephrotic Syndrome and End Stage Renal Disease were found to be the main kidney diseases among hypertensive patients, while higher systolic blood pressure, advanced age, long standing hypertension and unemployment being significant risk factors for decreased eGFR.

Keywords: Kidney disease, Hypertensive patients, Cardiac clinics

Date of Submission: 18-07-2024

Date of Acceptance: 28-07-2024

I. Introduction

Hypertension is a global public health challenge. An estimated 1.28 billion adults aged 30-79 years globally have hypertension and most of them are reported from developing countries¹. WHO reported the prevalence of hypertension among adult aged over 25 years being 27% and 18% in Africa and America respectively. In Tanzania, previous studies showed increasing prevalence of hypertension in different rural and urban populations: from 2-10% in 1960's to 13-79% in 2016, whereby alcohol, obesity and cigarette smoking were the most reported risk factors⁶. Studies in Arusha and Morogoro (regions of Tanzania) have documented that 25.7% and 45% of adults are hypertensive respectively, and odds of being hypertensive were increased with male gender, old age > 60 years, and obesity^{7,8}. Study from Muhimbili National Hospital reported the prevalence of hypertensive emergency and hypertensive urgency being 68% and 32%¹⁰ respectively.

Over the years hypertension has been reported to be one of the leading causes of kidney disease worldwide. For instance, disability adjusted life years (DALY) has shown a rising trend of numbers and rate of CKD due to hypertension from 1990 to 2019¹⁴. In Tanzania, a study done in Dodoma revealed that 43.8% of hypertensive patients had CKD¹⁵. In northwest of Tanzania it was reported that the prevalence of renal dysfunction among hypertensive patients was 53.9%. It was further reported that older age, female gender, obesity and high systolic blood pressure were the predictors of renal dysfunction.

Despite the fact that hypertension is an important cause of kidney disease, currently there is limited data explaining the pattern of kidney disease due to hypertension in Tanzania. Since, treating people with hypertension related kidney diseases imposes heavy financial burden on healthcare budgets worldwide^{8,25,26,27,28} this study

emphasize on early kidney disease screening and comprehensive care at cardiac clinics as it will have beneficial impact on hypertension control and management of kidney disease.

II. Methods

Study design and setting

A descriptive cross-sectional study was conducted among hypertensive adult patients at cardiac clinics in Dar es Salaam over a period of six months.

Sampling technique

Multi-stage cluster sampling was employed in selecting cardiac clinics: Stage 1, listing of all cardiac clinics found in Dar-es-Salaam, where by one group comprised public cardiac clinics and the other group private cardiac clinics. Public hospitals were selected by simple random sampling. Stage 2, was formation of three sub-groups based on level of health care of public hospitals which included tertiary level, Regional Referral Hospitals and district hospitals levels. From these sub-groups, the regional referral hospitals level was selected by simple random sampling. Study participants were selected using simple random sampling from selected cardiac clinics.

Data Collection

Questionnaires were administered for social demographic information while anthropometric parameters were obtained using standardized methods. Serum creatinine was measured and GFR estimated using CKD EPI 2021 equation. Urine was measured using dipstick analysis and Mindray BS 240 chemical analyzer.

Blood pressure was measured using aneroid sphygmomanometer (China made). Two consecutive readings were taken from each patients at 5 min interval and the average taken as mean BP. Hypertension was defined as systolic blood pressure (SBP) ≥ 140 mmHg and diastolic blood pressure (DBP) ≥ 90 mmHg (WHO guidelines 2021). Weight (to the nearest 0.5 kg) and height (to the nearest 0.5cm) were measured using a standardized weighing scale (RGZ-160 from Changzhou China) and body mass index (BMI) calculated using the formula: Weight (kg)/height (m^2) (WHO recommendation of adult BMI).

Blood Test: Venous blood (3 ml) was taken from cubital vein into a test tube and allowed to stand undisturbed for 10 min. Then centrifuging at 2000 rpm for 15 min to remove clots. The resulting serum was transferred to a clean polypropylene tube. Serum creatinine was determined using Mindray BS- 240 clinical chemistry analyzer Guangdong China. Glomerular filtration rate calculation: CKD-EPI formula (2021 update) was used to calculate eGFR:

$$GFR = 141 * \min(SCr/\kappa)^{\alpha} * \max(SCr/\kappa, 1)^{-1.209} * 0.993^{Age} * 1.018 [\text{if female}] * 1.159 [\text{if black}]$$

Using National Kidney Foundation guideline (2013), kidney disease was taken to be present at $eGFR < 60 \text{ ml/min/1.73 m}^2$ and mild impairment of kidney function at $eGFR \geq 60 \text{ ml/min/1.73 m}^2$ and absent of kidney disease at $eGFR > 90 \text{ ml/min/1.73 m}^2$. Renal function was staged as follows: Stage 1(normal) = $GFR > 90$; Stage 2 (mild to moderate renal impairment, $GFR 60-89$) and Stage 3-5 (kidney disease, $GFR < 60 \text{ ml/min/1.73 m}^2$).

Urine Test: Each study participant was given a sterile container to collect a urine sample and a dipstick urinalysis was done within ten minutes of sample collection using urine dipstick Multistix. Urinary dipstick was reported as: Negative to +1 classified as normal to mildly increased albuminuria, 2+ classified as severely increased albuminuria and 3+ to 4+ as nephrotic syndrome. Any patient with a urine dipstick negative for protein underwent further testing of urine for micro albuminuria using Mindray BS -240 clinical chemistry analyzer (Guangdong China). UACR was a method of choice to detect micro albuminuria and: an UACR of $< 30 \text{ mg/g}$ meant the normal albumin, an UACR of $30-300 \text{ mg/g}$ means the patient was having micro albuminuria while an ACR of $> 300 \text{ mg/g}$ means the patient was having macro albuminuria.

Pattern of kidney Disease: KDIGO guidelines was used to determine the proportion of patients with AKI. The criteria was based on a comparison with a known baseline SCr, to determine AKI. This baseline 'SCr' was obtained from previous patient medical records. For study participants whose previous serum creatinine were missed, an estimation of a reference baseline SCr was used. This is provided by KDIGO guideline where an estimated baseline is obtained through a back-calculation using the CKD -EPI equation and a glomerular filtration rate (GFR) of $75 \text{ mL/min/1.73 m}^2$. End Stage Renal Failure and nephrotic syndrome were diagnosed based on KIDGO criteria with estimated glomerular filtration rate.

DATA ANALYSIS

SPSS version 20 was used for data entry, cleaning and analysis. T-test and Chi-squared were used for categorical and continuous variables respectively. A p-value of < 0.05 was statistically significant.

III. RESULTS

Socio-demographic Status of Study Participants

In this study, 400 study participants were enrolled with a response rate of 100%. Of these, 287(72%) were females. Of the study participants majority had primary education 249(62%), 232(58%) had no any employment. Majority of study participants 240 (60%) had history of hypertension for less than 10years. It was further observed that 54(13.5%) and 20(5%) had history of alcohol consumption and cigarette smoking respectively.

Table 1: Social demographic characteristics of hypertensive patients attending cardiac clinics in Dar es Salaam (N=400)

Variables	Categories	Frequency	Percentages (%)
Age groups (years)	18-39	24	6
	40-64	223	55
	65+	153	38.3
Gender	Male	113	28.2
	Female	287	71.8
Duration since diagnosis of Hypertension (months)	1-11	77	19.3
	12-119	240	60.0
	≥120	83	20.8
Occupation	Permanently Employed	13	3.3
	Non-Employed	232	58
	Self Employed	155	38.8
Level of education	Informal Education	73	18
	Primary	249	62
	Secondary	59	14.8
	College	15	3.8
	University	4	1
History of alcohol use		54	13.5
History of cigarettes smoking		20	5

Clinical related characteristics

Of 400 study participants, 240(60%) and 211(52.8%) had uncontrolled systolic and diastolic blood pressure respectively, while 204(51%) study participants had excess body weight ($BMI \geq 25 \text{ kg/m}^2$). Furthermore, 119(30%) study participants had reduced eGFR, while 179(61.5%) had micro albuminuria.

Table 2: Distribution of clinical parameters for hypertensive patients attending cardiac clinics in Dar es Salaam (N=400)

Variables	Category	Frequency	Percentages (%)
Blood Pressure (mm/Hg)	Systolic BP>140	240	60
	Diastolic BP>90	211	52.8
BMI (kg/m^2)	Under weight(15-18.4)	32	8.0
	Normal weight (18.5-24.9)	164	41.0
	Over weight (25-29.9)	111	27.8
	Obesity (30+)	93	23.3
eGFR (ML/Min/1.73M ²)	0-14.9	11	2.8
	15-29.9	19	4.8
	30-44.9	34	8.5
	45-59.9	55	13.8
	60-89.9	182	45.5
	90+	99	24.8
Dip stick Urinalysis	Normal/mild increase albuminuria (negative)	291	72.8
	Severely increased albuminuria (2+)	96	24
	Albuminuria (3+)	13.	3.3
Urine ACR(Mg/L)	Normal albumin (0-29.9) albuminuria (negative to+1)	61	21
	Micro-albuminuria (30-300)	179	61.5
	Macro-albuminuria (>300)/ Nephrotic range	51	17.5

Distribution of eGFR and albuminuria in relation to age, gender, duration of hypertension and stages of hypertension

Advanced age >65years, long standing hypertension and higher systolic blood pressure were significantly associated with decline in eGFR. 75% of young age category in this study (18-39yrs) had an eGFR of ≥ 60 and only 25% had eGFR<60, while 57.5% of participants (older age ≥ 65 yrs category had an eGFR of ≥ 60 and 42.5% of < 60eGFR with a p-value of 0.0 signifying that eGFR tends to decrease as age increases. Furthermore, long standing hypertension was found to be associated with low eGFR as 36.6% of participants with hypertension for more than 10years had low eGFR vs 25.8% of participants with < 10 years, the p-value was 0.038. In addition, increase in systolic blood pressure was statically associated with decline in eGFR(p-value 0.004). Albuminuria was associated with aging and it was statically significant with p-value of 0.034.

Table 3: Distribution of estimated glomerular filtration rate(eGFR) in relation to age, gender, duration of hypertension and stages of hypertension among hypertensive patients attending cardiac clinics in Dar es Salaam(N=400)

Variables		eGFR categories (ml/min/1.73m ²)						Total	p-value
		0-14.9	15-29.9	30 - 44.9	45-59.9	60-89.9	90-160		
Age group (years)	18-39	2 (8.3%)	1 (4.2%)	1 (4.2%)	2 (8.3%)	6 (25%)	12 (50%)	24 (100%)	0.000
	40-64	3 (1.3%)	6 (2.7%)	17 (7.6%)	22 (9.9%)	102 (45.7%)	73 (32.7%)	223 (100%)	
	≥ 65	6 (3.9%)	12 (7.8%)	16 (10.5%)	31 (20.3%)	74 (48.4%)	14 (9.2%)	153 (100%)	
Gender	Male	2 (1.8%)	7 (6.2%)	13 (11.5%)	18 (15.9%)	55 (48.7%)	18 (15.9%)	113 (100%)	0.119
	Female	9 (3.1%)	12 (4.2%)	21 (7.3%)	37 (12.9%)	127 (44.350)	81 (28.2%)	287 (100%)	
Duration since diagnosis of Hypertension (Months)	1-11	2 (2.6%)	4 (5%)	6 (7.8%)	8 (10.4%)	32 (41.6%)	25 (32.5%)	77	0.038
	12-119	6 (2.5%)	10 (4.2%)	21 (8.8%)	31 (12.9%)	113 (47%)	59 (24.6%)	240	
	120-160	3 (3.6%)	5 (6%)	7 (8%)	16 (19%)	37 (44.6)	15 (18%)	83	
Category of hypertension(mmHg)		Systolic hypertension							
		Grade 1(140-159)	4 (2%)	6 (3.5%)	15 (8.8%)	24 (14%)	78 (45.9%)	43 (25%)	170
		Grade2(160-179)	5 (7.9%)	6 (9.5%)	7 (11%)	11 (17.5%)	26 (41%)	8 (12.7%)	63
		Grade3(>180+)	0	0	0	2 (25%)	3 (37.5%)	3 (37.5%)	8

Distribution of Albuminuria with eGFR stages among hypertensive patients attending cardiac clinics in Dar-es-Salaam (N=400)

Albumin creatinine ratio (ACR) and eGFR had a negative linear correlation in the present study which signifies that the higher the ACR the lower the eGFR as 21% of participants in ACR of 0-29.9 category had eGFR of <60ml/min/1.73m² compared to 53% of participants in ACR of > 300 category with eGFR of <60ml/min/1.73m².

Table 4: Distribution of albuminuria with eGFR among hypertensive patients attending cardiac clinics in Dar-es-Salaam (N=400)

ACR categories (Mg/g)	eGFR Category (ML/MIN/1.73)						Total	p-value
	0-14.9	15-29.9	30-44.9	45-59.9	60-89.9	90+		
0-29.9	0	2 (3.3%)	3 (4.9%)	8 (13.1%)	28 (45.9%)	20 (32.8%)	61	0.000
30-300	7 (2.4%)	8 (2.8%)	22 (7.6%)	42 (14.6%)	138 (47.9%)	71 (24.7%)	288	
>300	4 (7.8%)	9 (17.6%)	9 (17.6%)	5 (9.8%)	16 (31.4%)	8 (15.7%)	51	

Correlation between eGFR, Albuminuria with Social economic factors and BMI among hypertensive patients attending cardiac clinics in Dar-Es-Salaam (n=400)

Low social economic status was associated with low eGFR. 35% of study participants in non-employment category had eGFR< 60ml/min/1.73m² while 22% of study participants from self-employment category had the same eGFR value. This association was statistically significant as p-value was 0.001. Furthermore an increase in BMI was significantly associated with an increase in albuminuria (p-value 0.012).

Table 5: Distribution of eGFR, albuminuria with social -economic factors and BMI among hypertensive patients attending cardiac clinics in Dar-es-Salaam (N=400)

Social -economic factors		eGFR Categories(ML/MIN/173M ²)						Total	P-VALUE	
		0-14.9	15-29.9	30-44.9	45-59.9	60-89.9	90+			
History of alcohol use		2 (3.7%)	4 (7.4%)	6 (11.1%)	8 (14.8%)	24 (44.4%)	10 (18.5%)	54	0.245	
History of cigarette smoking		0	1 (5%)	2 (10%)	5 (25%)	9 (45%)	3 (15%)	20	0.306	
Level of education	Informal Education	4 (5.5%)	3 (4.1%)	4 (5.5%)	11 (15.1%)	43 (58.9%)	8 (11%)	73	0.882	
	Primary Education	5 (2.1%)	13 (5.2%)	22 (8.8%)	27 (10.8%)	109 (43.8%)	73 (29.3%)	249		
	Secondary	1 (1.7%)	2 (3.4%)	7 (11.9%))	14 (23.7)	22 (37.3%)	13 (22%)	59		
	College	0 (0.0%)	0 (0.0%)	1 (6.7%)	2 (13.3%)	7 (46.7%)	5 (33.3%)	15		
	University	1 (1.2%)	1 (25%)	0 (0.0%)	1 (25%)	1 (25%)	0 (0.0%)	4		
Occupation	Permanent employment	0 (0%)	1 (7.7%)	2 (15.4%)	1 (7.7%)	6 (46.2%)	3 (23%)	13	0.001	0.001
	Self employment	2 (1.3%)	4 (2.6%)	10 (6.5%)	17 (11%)	73 (47.1%)	49 (31.6%)	155		
	Non - employment	9 (3.9%)	14 (6%)	22 (9.5%)	37 (15.9%)	103 (44.4%)	47 (20.3%)	232		
Variable		Category	BMI(Kg/M ²)						p-value	
			Under weight(<18.5)	Normal weight(18.5-24.9)		Overweight (25-29.9)	Obese (>30)			
ACR(Mg/g)		0-29.9	6(9.8%)		31(50.8%)		14(22.9%)		10(16.4%)	0.012
		30-300	18(6%)		106(36.8%)		92(31.9%)		72(25%)	
		>300+	8(15.7%)		27(52.9%)		5(9.8%)		11(21.6%)	

IV. Discussion

Clinical pattern of renal disease among adult hypertensive patients was explored in this study. The pattern was dominated by AKI 89(22.3%), nephrotic syndrome 12.8% and end stage renal failure 2.8%. These findings were in contrast with what were found in Cameroon and Ghana whereby the clinical pattern of renal diseases was dominated by advanced CKD with the prevalence of 61.8% and 70.8% respectively^{30,31}.

According to this study, 75% of the hypertensive patients had a decreased glomerular filtration rate (eGFR<90ML/Min/1.73M³), with at least 30% recording <60ML/Min/1.73M³. This finding was similar to a study done in Cameroon^{2, 36}, but varied with the study done in Mwanza which reported 5% of participants having decreased glomerular filtration rate^{2, 26}.

Micro-albuminuria was recorded in 61.5% of the adult hypertensive patients in the current study, which was lower compared to that reported at Muhimbili National Hospital in Tanzania (82.8%)²⁸ and higher than that reported in Mwanza and Cameroon (23.3% and 15% respectively)^{26,36}. The variation might be due to difference study setting and methods employed in the diagnosis of micro-albuminuria and eGFR.

Furthermore, higher systolic blood pressure was significantly associated with decline in eGFR (p-value=0.004) among adult hypertensive patients. This finding was in line with studies conducted in Northern Tanzania, Ghana, Cameroon and Norway^(26,36,38,39). However, a study done in Ethiopia showed that diastolic BP greater than 90mmHg was most likely associated with development of kidney diseases⁴⁰. In addition, higher systolic and diastolic blood pressures were associated with increase in albuminuria. This is due to effect of uncontrolled hypertension which cause blood vessels within the kidney to be narrowed, weaken or harden and as a result are not able supply enough blood to the kidney and this impairment leads to glomerular hypertension and an increase proteinuria.

Advanced age was significantly associated with decline in eGFR (p-value =0.000) and higher albuminuria (ACR) (P-value= 0.034) among adult hypertensive patients in this study. This finding was similar to findings reported from Mwanza, Dar es Salaam, Ethiopia and Northern Cameroon^(26, 28, 36).

Long standing hypertension was significantly associated with decline in eGFR among adult hypertensive patients (p-value=0.038) as study participants with duration of hypertension for more than ten years had higher percentage of decline in eGFR (37%) compared to those whose duration of hypertension is less than ten years (28%). This concurs findings from Ethiopia³⁷. The explanation to this is due to the fact that over time; hypertension damages blood vessels throughout the kidney and reduce the blood supply to the kidney and this leads to renal vascular nephropathy which slowly leads to the decrease of glomerular filtration rate.

An increase in albuminuria was significantly associated with decline in eGFR (P=0.000) among adult hypertensive patients. This finding was in line with study done by Levey AS et al and Melsom T,^{38,39}.

Low social-economic status was associated with decline in eGFR and increased albuminuria among adult hypertensive patients as 35% of study participants with lower level of occupation (unemployed) and education had eGFR <60ml/min/1.73m² compared to those with higher level of occupation 31% and education which was statically significant (p-value 0.001). This result was similar to study done in Netherland and Northern Tanzania/Kilimanjaro^{40,41}. This might be due to the fact that people with low education levels are unaware of behaviors and factors that contribute to hypertension while unemployment causes access to quality care /treatment difficulties.

Increase in body mass index was significantly associated with an increase in albuminuria (ACR) (p-value=0.012). This finding was similar to what was found in Mwanza and China^{26,55,56}. This is due to the fact that obesity is associated with increased fat-free mass with vasodilatation of the afferent arteriole, resulting in increased renal plasma flow, eGFR and filtration fraction and in addition increased intra-glomerular pressure drives glomerular filtration barrier injury^{47,48, 56}.

V. Conclusion

Acute Kidney Injury, Nephrotic Syndrome and End Stage Renal Disease are the main kidney diseases among hypertensive patients, with higher systolic blood pressure, advanced age, long standing hypertension and unemployment being significant risk factors for decreased eGFR.

Ethical issues: The ethical clearance and permission to conduct this study were issued by Hubert Kairuki Memorial University (HKMU) and Medical officer in charge of Amana, Mwananyamala and Temeke hospitals respectively. Consent were obtained from study participants.

Availability of data and materials: The data sets analyzed during the current study are available from the corresponding author on reasonable request.

Competing interests: The authors declare that they have no competing interests.

Funding: Data collection and analysis were funded by TPDF & Kairuki Hospital.

Authors' contributions: All authors contributed equally in conception, research development and study design. Absalom Maiseri contributed in data collection and entry. Warles Charles Lwabukuna & Yassin Mgonda were instrumental in statistical analysis.

All authors read and gave final approval for the manuscript's submission and publication.

Acknowledgement: I would like to thank TPDF, HKMU & KH managements for their support during this study. I would like to appreciate all the participants who took part in this study.

References

- [1]. WHO. World Health Organization Fact Sheet. WHO (2021).
- [2]. Isangula, K. G. & Meda, J. R. The Burden of Hypertension in the Rural and Urban populations of Tanzania: A review of Trends, Impacts and Response Helping Baby Breathe (HBB) in Tanzania View project Personal behaviors, NCD risk status and patient counseling practices in Tanzania View p. Tanzania J Heal. Sci1, 42–52 (2017).
- [3]. Khamis, A. G. et al. Prevalence and determinants of hypertension among pastoralists in Monduli District, Arusha region in Tanzania: a cross-sectional study. Arch. Public Heal.78, 1–12 (2020).
- [4]. Nyagori, H. E. Prevalence of Hypertensive Diseases and Associated Risk Factors above 30 Years Adult People Admitted in Morogoro Regional Referral Hospital 2021, Tanzania. OALib09, 1–8 (2022).
- [5]. Shao, P. J. et al. Profile of patients with hypertensive urgency and emergency presenting to an urban emergency department of a tertiary referral hospital in Tanzania. BMC Cardiovasc. Disord.18, 1–7 (2018).
- [6]. Chen, A. et al. Disease Burden of Chronic Kidney Disease Due to Hypertension From 1990 to 2019: A Global Analysis. Front. Med. 8, (2021).
- [7]. Meremo, A. J. et al. Prevalence and Risk Factors Associated With Chronic Kidney Disease Among Patients Presenting at a Haemodialysis Unit in Dodoma, Tanzania. East African Heal. Res. J. 2, 53–57 (2018).
- [8]. Sangare, A. ., Kalluvya, S. E., Kabangila, R., Kidenya, B. R. & Mpondo, B. C. Prevalence and Predictors of Renal Dysfunction among Adult Hypertensive Patients Attending Medical Clinic in North-western Tanzania: A Cross Sectional Study. Tanzania Med. J. 29, 53–73 (2017).
- [9]. Mushi, L., Krohn, M. & Flessa, S. Cost of dialysis in Tanzania: evidence from the provider's perspective. Health Econ. Rev. 5, 28 (2015).
- [10]. Meremo, A. J. et al. Challenges and outcomes of haemodialysis among patients presenting with kidney diseases in Dodoma, Tanzania. BMC Nephrol. 18, 212 (2017).
- [11]. Furia, F. F. et al. Developing nephrology services in low income countries: a case of Tanzania. BMC Nephrol. 20, 378 (2019).
- [12]. Kidney disease Improving Global Outcome (KDIGO) Clinical Practice Guideline for Acute Kidney Injury. Kidney international. 2013;3 (Supplement)(1):136–150. [Google Scholar]
- [13]. Kidney disease Improving Global Outcomes (KDIGO) Clinical Practice Guideline for the Evaluation and Management of Chronic Kidney Disease. Kidney inter. 2013;3 (Suppl.)(1):1–150.
- [14]. Tamanji, M. T., Ngwakum, D. A. & Mbouemboue, O. P. A Profile of Renal Function in Northern Cameroonians with Essential Hypertension. Cardioresnal Med. 7, 324–333 (2017)
- [15]. Okyere, P. et al. Spectrum and Clinical Characteristics of Renal Diseases in Ghanaian Adults: A 13-Year Retrospective Study. Int. J. Nephrol. 2020, 1–5 (2020).
- [16]. Bhalloo, H. Prevalence of microalbuminuria and associated factor among hypertensive patients at Muhimbili National Hospital Dar-es-salaam. (Muhimbili University of Health and Allied Sciences, 2013).
- [17]. Eriksen, B. O. et al. Blood pressure and age-related GFR decline in the general population. BMC Nephrol. 18, 77 (2017).
- [18]. Hunegnaw, A., Mekonnen, H. S., Techane, M. A. & Agegnehu, C. D. Prevalence and Associated Factors of Chronic Kidney Disease among Adult Hypertensive Patients at Northwest Amhara Referral Hospitals, Northwest Ethiopia, 2020. Int. J. Hypertens. 2021, 1–8 (2021).
- [19]. Levey, A. S., Grams, M. E. & Inker, L. A. Uses of GFR and Albuminuria Level in Acute and Chronic Kidney Disease. N. Engl. J. Med. (2022) doi:10.1056/nejmra2201153.
- [20]. Melsom, T. et al. Mild Albuminuria Is a Risk Factor for Faster GFR Decline in the Nondiabetic Population. Kidney Int. Reports (2018) doi:10.1016/j.ekir.2018.01.015.
- [21]. Vart, P. et al. Socioeconomic status and risk of kidney dysfunction: The Atherosclerosis Risk in Communities study. Nephrol. Dial. Transplant. (2019) doi:10.1093/ndt/gfy142.
- [22]. Stanifer, J. W. et al. The epidemiology of chronic kidney disease in Northern Tanzania: A population-based survey. PLoS One (2015) doi:10.1371/journal.pone.0124506.
- [23]. Qin S, Wang A, Gu S et al. Association between obesity and urinary albumin-creatinine ratio in the middle-aged and elderly population of Southern and Northern China: a cross-sectional study. BMJ Open. 2021 Jan 5; 11(1):e040214. doi: 10.1136/bmjopen-2020-040214. PMID: 33402405; PMCID: PMC7786798.
- [24]. Ploth, D. W. et al. Prevalence of CKD, Diabetes, and Hypertension in Rural Tanzania. Kidney Int. reports 3, 905–915 (2018).
- [25]. Sangare, A. ., Kalluvya, S. E., Kabangila, R., Kidenya, B. R. & Mpondo, B. C. Prevalence and Predictors of Renal Dysfunction among Adult Hypertensive Patients Attending Medical Clinic in North-western Tanzania: A Cross Sectional Study. Tanzania Med. J. 29, 53–73 (2017).
- [26]. WANG, X.-C. et al. Clinical and pathological analysis of the kidney in patients with hypertensive nephropathy. Exp. Ther. Med. 6, 1243–1246 (2013).
- [27]. Bhalloo, H. Prevalence of microalbuminuria and associated factor among hypertensive patients at Muhimbili National Hospital Dar-es-salaam. (Muhimbili University of Health and Allied Sciences, 2013).
- [28]. Kramer, A. et al. The ERA-EDTA registry annual report 2017: A summary. Clin. Kidney J. 13, 693–709 (2020).
- [29]. Masakane, I. et al. Annual Dialysis Data Report 2016, JSDT Renal Data Registry. Ren. Replace. Ther. 4, 1–44 (2018).
- [30]. USRD. 2021 Annual Data Report Table of Contents Incidence , Prevalence , Patient Characteristics , and Treatment Modalities. (2021).
- [31]. Kaze, A. D., Ilori, T., Jaar, B. G. & Echouffo-Tcheugui, J. B. Burden of chronic kidney disease on the African continent: A systematic review and meta-analysis. BMC Nephrol. 19, 1–11 (2018).
- [32]. Silva Junior, G. B. da, Oliveira, J. G. R. de, Oliveira, M. R. B. de, Vieira, L. J. E. de S. & Dias, E. R. Global costs attributed to chronic kidney disease: a systematic review. Rev. Assoc. Med. Bras. 64, 1108–1116 (2018).
- [33]. Mushi, L., Krohn, M. & Flessa, S. Cost of dialysis in Tanzania: evidence from the provider's perspective. Health Econ. Rev. 5, 28 (2015).
- [34]. Meremo, A. J. et al. Challenges and outcomes of haemodialysis among patients presenting with kidney diseases in Dodoma, Tanzania. BMC Nephrol. 18, 212 (2017).
- [35]. Furia, F. F. et al. Developing nephrology services in low income countries: a case of Tanzania. BMC Nephrol. 20, 378 (2019).

- [36]. Tamanji, M. T., Ngwakum, D. A. & Mbouemboue, O. P. A Profile of Renal Function in Northern Cameroonians with Essential Hypertension. *Cardiorenal Med.* **7**, 324–333 (2017).
- [37]. Kaze, F. F. et al. The clinical pattern of renal diseases in the nephrology in-patient unit of the Yaounde General Hospital in Cameroon: a five-year audit. *Pan Afr. Med. J.* **21**, (2015).
- [38]. Okyere, P. et al. Spectrum and Clinical Characteristics of Renal Diseases in Ghanaian Adults: A 13-Year Retrospective Study. *Int. J. Nephrol.* **2020**, 1–5 (2020).
- [39]. Stanifer, J. W. et al. The epidemiology of chronic kidney disease in Northern Tanzania: A population-based survey. *PLoS One* **10**, 1–12 (2015).
- [40]. Kasongo, N., Siziya, S. & Banda, J. Clinical profile and predictors of renal failure in emergency department patients at a tertiary level hospital, a cross sectional study. *African J. Emerg. Med.* **12**, 456–460 (2022).
- [41]. Kim, B. S. et al. Impact of the estimated glomerular filtration rate on long-term mortality in patients with hypertensive crisis visiting the emergency department. *PLoS One* **17**, e0266317 (2022).
- [42]. Eriksen, B. O. et al. Blood pressure and age-related GFR decline in the general population. *BMC Nephrol.* **18**, 77 (2017).
- [43]. Maria Lorenza Mulesan & Ettore Ambrosioni. Sex differences in hypertension-related and cardiovascular disease in Italy: the - DEMAND study. *J. Hypertens.* **30**, 2378–2386 (2012).
- [44]. Hunegnaw, A., Mekonnen, H. S., Techane, M. A. & Agegnehu, C. D. Prevalence and Associated Factors of Chronic Kidney Disease among Adult Hypertensive Patients at Northwest Amhara Referral Hospitals, Northwest Ethiopia, 2020. *Int. J. Hypertens.* **2021**, 1–8 (2021).
- [45]. G EKKNONYAN, N. L. Clinical Practice Guidelines For Chronic Kidney Disease 2013. *Kidney Int.* **3**, 5–14 (2013).
- [46]. Melsom, T. et al. Mild Albuminuria Is a Risk Factor for Faster GFR Decline in the Nondiabetic Population. *Kidney Int. Reports* **3**, 817–824 (2018).
- [47]. Levey, A. S., Grams, M. E. & Inker, L. A. Uses of GFR and Albuminuria Level in Acute and Chronic Kidney Disease. *N. Engl. J. Med.* **386**, 2120–2128 (2022).
- [48]. Vart, P. et al. Socioeconomic status and risk of kidney dysfunction: The Atherosclerosis Risk in Communities study. *Nephrol. Dial. Transplant.* **34**, 1361–1368 (2019).
- [49]. Sato, Y., Yoshihisa, A., Maki, T. & Takeishi, Y. Effects of daily alcohol intake on glomerular filtration rate over three years. *Fukushima J. Med. Sci.* **67**, 1–7 (2021).
- [50]. Chung, F. M. et al. Effect of alcohol consumption on estimated glomerular filtration rate and creatinine clearance rate. *Nephrol. Dial. Transplant.* **20**, 1610–1616 (2005).
- [51]. Lee, S. et al. Smoking, Smoking Cessation, and Progression of Chronic Kidney Disease: Results From KNOW-CKD Study. *Nicotine Tob. Res.* **23**, 92–98 (2021).
- [52]. Landi, F. et al. Body mass index is strongly associated with hypertension: Results from the longevity check-up 7+ study. *Nutrients* **10**, 1–12 (2018).
- [53]. Shariq, O. A. & McKenzie, T. J. Obesity-related hypertension: A review of pathophysiology, management, and the role of metabolic surgery. *Gland Surg.* **9**, 80–93 (2020).
- [54]. He, Y. et al. Association Between Body Mass Index and Mildly Decreased Estimated Glomerular Filtration Rate in Chinese Adults With Early Chronic Kidney Disease. *J. Ren. Nutr.* **26**, 367–372 (2016).
- [55]. Xiong, J., Wang, J., Zhao, J. & Zhang, L. Association between Body Mass Index Combined with Albumin: Creatinine Ratio and All-cause Mortality in Chinese Population. *Sci. Rep.* **7**, 1–7 (2017).
- [56]. Qin, S. et al. Association between obesity and urinary albumin-creatinine ratio in the middle-aged and elderly population of Southern and Northern China: A cross-sectional study. *BMJ Open* **11**, 1–12 (2021).